Math 180 Practice Test 1
1.    Look at the graph in #29 on page 70.
       a. find f(-1)                      b. For what x is f(x) = -1?               c. What are the domain and range?         
       d. Why does the inverse exist?                          e. Graph the inverse.

2.    Given 
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, find
       a. domain and range for each           b. inverse functions of f(x),g(x)          c. 
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          d. symmetries
3.    Find the following limits.                                                     
       a. 
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[image: image6.wmf]3

3

6

216

lim

272

a

a

aa

®-

æö

+

ç÷

-

èø

                            c. 
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4.   For the function whose graph is shown to the right, find
      a. 
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    b. f(4)    c. all intervals where f(x) is continuous        
      d. intervals where f(x) is decreasing
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5.    Use the squeeze theorem to show 
6.    Explain why 
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 is continuous at 
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7.    Prove that 
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 using the precise 
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8.     Find the derivatives of the following using the definition of derivative.
        a. 
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9.    Using what you found in number 8, find the equation of the line tangent to 
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       point (-2,-4).
10.  Find the following limits.

       a. 
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11.   Sketch the graph of a function where 
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12.   Create a table of values to investigate 
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. Give a guess as to what the limit is.
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